LTFKER FR28FEEIETEEHME—24 [LkHE]

(MEIX1.72)
Ix4 =3 ITEHE BIFEA
EKEMRIE K E $iHET ¢ 700 L= 500 m 108
FEHET =T Btk ® 700 L= 450 m 124
BRKEMRELSE LR ¢ 500 L= 200 m 48
INFI=TH ® 400 L= 300 m 58
tEHE-TE ¢ 300 L= 300 m 58
RF4H ®300 L= 350 m 6A
BHI=TH ¢ 100 L= 270 m 78
FRHET ® 150 L= 200 m 78
[BFEI—TH ¢ 100 L= 230 m 78
ch T ® 100 L= 380 m 78
BER=TH 200t L= 450 m 8A
RFE—TH $100~150 L= 400 m 8A
RFHAH ® 100 L= 700 m 8A
KRFFIN 100 L= 500 m 8A
RFEZA ¢ 100 L= 200 m 9A
BmI—TH ® 150 L= 500 m 98
BT ® 100 L= 280 m 9A
HET—TH $ 100 L= 550 m 9A
FRHET ® 100 L= 360 m 108
B&ATH $75~100 L= 360 m 10R
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(FEIX2.2)
IE4 TEHAR ITEHE I FEAR

FEKERZSEISE HN[RET @ 100~150 L= 320 m 108

TEBR—TH 100 L= 330 m 118

RKAG—TH ¢ 100 L= 280 m 1A
INFTIRUTIERFGE |[FIL=ZTH IMFIK T |[BEYMORFS I 108
IZ%E 5 IExtRITE -
INFIRVTISEERE |FIWW=TB MRIKR T |SEEERED _— 125
REEHERIEIE |15 BE *
INFTIRUTIHERERE |FIL=TEH MFRIKRLT |[EEEEBRED - 125
REEFHERITEIE |5 BE *
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(hEIEX1./1)
Ix4 =3 ITEHE BIFEA
EKEMREIE FE=TH ¢ 600 L= 200 m 48
HEAmTH p300ft L= 530 m 4R
TEHFRTH $100 L= 350 m 6H
TEHFRTH @450 L= 280 m 6A
ich=dig 300t L= 560 m 7R
FIRER ¢ 150 L= 320 m 78
ikt $100~150 L= 810 m 78
wiE—TH 100 L= 310 m 8A
mE—TEf# $75~150 L= 410 m 98
+tEH-TH $100~150 L= 320 m 98
e EEET ® 100 L= 250 m 9A
FE5"TH ® 150 L= 200 m 98
ko E—TH ¢ 150 L= 290 m 108
HEZTH ® 150 L= 380 m 1A
BEE—THE#M $100~150 L= 360 m 1A
=ET—TH $200~150 L= 170 m 118
=YHZTH ¢ 100 L= 390 m 12H
EXHRET 4t ® 100 L= 230 m 128
BKEMRIE 78 & HT ® 150 L= 500 m 12H
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UhEFK1./2)
Ix4 =3 ITEHE BIFEA
EKEMRLE BAREI=TH p700fh L= 110 m 7R
BEEKEMKEISE KFILAK ® 150 L= 920 m 4R
BEAEETH @200 L= 650 m 4R
EE—TH ¢ 150 L= 360 m 58
TERNTH ¢ 100 L= 540 m 58
KFKRTF ® 150 L= 500 m 5R
HE=TH ¢ 250 L= 340 m 58
BEROETH ® 150 L= 340 m 68
FEBEMTH @200 L= 300 m 6 A
#HI=TH ® 300 L= 280 m 6A
BRET=-mTH $ 100 L= 290 m 78
A HET ¢ 150 L= 250 m 78
EEARTH @200 L= 350 m 1R
hE—TH ® 150 L= 250 m 8H
HKHET ¢ 100 L= 280 m 9AR
BEE—-TH ® 100 L= 220 m 1A
®Hh=TH ® 100 L= 290 m 1A
BKEMRTE EtE—TH ® 100 L= 580 m 4R
fEE—TH (FAE) $ 100 L= 300 m 9R
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UDEER22)
TE4 TEER TEHE R 3
HERBHABBIE |KTHER HFRKS [EDAOEH | st 67
HEREARSTEES |4 s ra |[REMOESS .
&ieT=E RKFEHFH HFHRKS txETSE 1= 10R
LEBMEMBETE | ATEE EEEkE | 2BCOEHE | st 108
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(BEHX1.2)
IF4 THRE/ ITEHME EIFEA
BKEMSELSE RFEH ¢ 1000fth L= 300 m 8A
EKEMRELSE RKFLRE(ZD1) ® 150 L= 520 m 48
R_E—ZTH(E®1) |¢150 L= 320 m 48
XFH=E $ 150 L= 580 m 48
FRIGTHT $ 150 L= 510 m 4
RFLRH 200t L= 450 m 58
RFRE ¢p200fth L= 845 m 65
RFRE(ZED2) ® 100 L= 390 m 6 A
RFII $200f L= 520m 7R
M—_&5Z=TH ¢ 100 L= 360 m 78
RFELHE $ 150 L= 250 m 7R
FAAJET ® 100 L= 540 m 78
RFRE(ZD3) $ 150 L= 380 m 10A
R-E—ZTHE®2) |¢$150 L= 370 m 1048
KRFINT $ 150 L= 250 m 10A8
4] ¢300fth L= 220 m H294E 1R
FRAKEMZIE(INK) |EET-TH ¢ 400 L= 800 m 4R
EE_TH ¢ 400 L= 400 m 78
;%Ebk;‘iﬁ;’fﬁﬁéﬁﬁl *=—g AT - oA
§t§%i§7krl—\°>7°ﬁ¥ﬁl S%=TH BAR TS %7&!157"0)% I 18
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(BENX22)
I=E% T=&RT ITEHE HEILFER
HKERBRARESR SR=TH /AN TS BRARERR T 108
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(J\EERX1.1)
IF4 THRE/ ITEHE EIFEA
EKEMRELSE BRHL LT ¢ 300 L= 190 m 4R
EKEMRELSE FAHEZTH $200fh L= 230 m 58
W =TH ¢ 100 L=  320m 5A
HE=TH T L= om 5
MiE—=-TH $100 L= 300 m 58
EQOHEIZTH ¢p450fth L= 230 m 68
WHEZ-TH $350fth L= 430 m 68
REH-TH ¢200fth L= 290 m 7H
HAEk—TH, SHE ¢ 150 L=  340m 78
REZTE(ZO1) 2?30 L= oom 78
IR ET ¢ 100 L=  310m 7R
ST ® 100 L= 290 m 8A
#E-TH(ZD2) S L= lm 15
EABRRELF T mm-TaEN $700 L=  500m 78
W/ #R TieEEERE KA-THE L/t T =ERERED I 98
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(J\EFEX1.3)
IF4 THRE/ ITEHME EIFEA
BKEMREISE % JRHET ¢ 1200fth L= 100 m 58
KFEXRG ¢ 1200 L= 380m 88
EKEMRELE #%I—TH ¢ 800 L= 220 m 7R
# THT $ 450 L= 450 m 8A
RF/INE ¢ 500 L= 300m 9A
EKEMRELSE =VEE—TH $100 L= 460 m 48
EFMAT(ZD1) $ 100 L= 720 m 4R
FBHZTH ¢ 150 L= 660 m 48
FR-TH ¢300fth L= 150 m 58
KF/IE $500ft L= 450 m 5A
RKHE—TH ¢p200fth L= 600 m 58
FHET $100 L= 40 m 58
HET=TBH @75 L= 65 m 58
51%—TH ® 100 L= 100 m 58
HH—TH(ZD2) @75 L= 160 m 58
E=E i) $ 150 L= 160 m 58
HE_TH 200 L= 450 m 67
AeE—TE piE0 o e o8
KE=TH oy L= om 68
AM—TAH $100 L= 40 m 678
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(J\tEFEX2 3)
IF4 THRE/ ITEHME EIFEA
EKEMSELSE RIEKETH ¢ 150 L= 240 m 6A
EABZTH ¢ 150 L= 130 m 68
ERET B $100 L= 220 m 6A
BT EZ&ER-TH $ 150 L= 450 m 67
ZEBOR=TH 300 L= 470 m 718
=4#%=TH $200ft L= 390 m 78
EL=TH $100 L= 175 m 7R
BiZIIR=TH ® 100 L= 170 m 78
FE] FR BT ¢ 100 L= 350 m 7R
& AT e L= em 78
KANRETZTH ¢ 100 L= 470 m 7R
HHEETH ® 100 L= 180 m 78
RRETE ¢ 100 L= 260 m 7R
HHE—TH ¢200fth L= 200 m 8A
[ERMET B (202) ¢ 100 L= 210 m 8A
KRFHIR $ 100 L= 280 m 8 A
£#84—TH e L= om 88
$ 150 200
=»H=TH ® 100 L= 20 m 8 A
$75 30
RFHEH ¢ 150 L= 390 m 98
RIS/KTH (£M2) ® 150 L= 250 m 9A
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(J\EFEX 3 3)

IF4 THRE/ ITEHME EIFEA
EKEMREIE EMET(Z2D2) ¢ 100 L= 320 m 108

AHE=TH 350t L= 495 m H29%E1 8
EKEMRIE HWEZTH ®50 L= 130 m 8A
Bk £0OM=TE ReABRE 3t 88
é%ﬁ%g%%goom KFHiE $1200 L= 180 m 118
ﬁg%ﬁgg%%goo 4 [RET $1000 L= 60 m 118
AREBHHERIE HEARTH AWAEKE |(EBFOEH 1= 6 A
EIRREHRTE HEARETHE AREFKE |[ZEFAEOER 1 10R
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(FMX1./1)
IF4 THRE/ ITEHME EIFEA
EKEMSELSE FBH=TH $300ft L= 440 m 58
®LMETH ® 300 L= 780 m 58
JTE AT 300t L= 110m 68
FH—TE~X#—TH |¢100 L= 520 m 64
RRKB&—THE $ 100 L= 490 m 68
#EHT ¢ 100 L= 325 m 68
BAS-TE~RAB=TH|¢100 L= 480 m 7R
FM=TH ® 100 L= 220 m 7H
FH=TH(ZD1) $ 100 L= 300 m 7R
®ILETH ® 100 L= 250 m 8A
XEF_TH $ 150 L= 370 m 8A
HE—TH $ 150 L= 300m 9h
=ARE~/NE=TH $ 100 L= 220m 108
FHH=TH(£D2) ® 100 L= 180 m 108
?E;kﬁﬁﬁglg(l #i—TH ¢ 600 L= 250 m 8A
LRI RAKEGT00 |y =g 700 N= - \B

NFTSAFMEBILE
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ETKER FHR28FEIFEXME—

g [LEkE]

(st -ZDih1.1)

IF4 THRE/ ITEHE BIFEA
EKEMREIE SHAE=TH $350fth L= 470 m 58
ERE—T Bt ¢350fth L= 450 m 8A
EKEMRIE KEREHAE_TH ® 50 L= 40 m 64
Eﬁ%gﬁﬁ*ﬁ%ﬁ* H—F FBEHOESH E 108
KEAMBMBRAZL | hm—p KEF DEH E 108
NEBTHERIS BT BEHDOEH 1R 68
mr**g%%%%% & ﬁg%@ﬁ%ﬁ = =
giﬁﬂ%ﬁﬁ%ﬁ%ﬁﬁ%l P %fﬁﬁﬁ%ﬁﬁﬂ%ﬁ@ - 18
KERRRARINZ | ap KEHBOEH 12 108
REMEHRRNEL | FBEHOEH E 108
;:;4@%;%%12350/(9 EEHEE 61350  N= 1 & 1A
HRFREKE ¢ 1350/\
gm&%ﬁw.ﬂiiﬁl—tl EETEH ¢ 1350 N= 25 & 108
e T 630  N= 1% 1A
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